[~ PRODUCT BULLETIN #442

DEXTER Page 1 of 4

Date: June 4,2021
Subject: Changes in Integral Disc Brake Kits
Please be advised that Dexter will no longer be offering integral disc brake kits that include only the hub-rotor and caliper. Historically,
Dexter offered complete kits that included bearings, seals, Trailer Buddies, and lug nuts as well as hub-rotor & caliper only kits. Going

forward, Dexter will only be offering complete integral disc brake kits that include bearings, seals, Trailer Buddies, and lug nuts. As previously
communicated, product will be transitioning to Dexter branding as UFP branded product runs out.

Below is a chart listing the discontinued kits with references to the appropriate kit to use in its place. Also included below is a parts
breakdown of the integral disc brake kits that are being retained.

Discontinued Integral Disc Brake Kits

PART NO. UPC DESCRIPTION CROSS REFERENCE
K71-077-00 | 876983006465 | 3,750 Ibs. Zinc Hub & Rotor w/ Zinc Caliper, Wheel Kit Discontinued, Use K71-077-05
K71-077-02 3,750 Ibs. Zinc Hub & Rotor w/ Zinc Caliper, Axle Kit Discontinued, Use Qty (2) K71-077-05

K71-078-00 | 876983006472 | 3,750 Ibs. Zinc Hub & Rotor w/ Aluminum Caliper, Wheel Kit | Discontinued, Use K71-078-05
K71-078-02 | 876983009275 | 3,750 Ibs. Zinc Hub & Rotor w/ Aluminum Caliper, Axle Kit | Discontinued, Use Qty (2) K71-078-05
K71-089-00 | 876983006502 | 6,000 Ibs. Zinc Hub & Rotor w/ Zinc Caliper, Wheel Kit Discontinued, Use K71-089-05
K71-089-02 6,000 Ibs. Zinc Hub & Rotor w/ Zinc Caliper, Axle Kit Discontinued, Use Qty (2) K71-089-05
K71-090-00 | 876983006519 | 6,000 Ibs. Zinc Hub & Rotor w/ Aluminum Caliper, Wheel Kit | Discontinued, Use K71-090-05
K71-090-02 | 876983009305 | 6,000 Ibs. Zinc Hub & Rotor w/ Aluminum Caliper, Axle Kit | Discontinued, Use Qty (2) K71-090-05
K71-824-00 | 876983006540 | 7,000 Ibs. Zinc Hub & Rotor w/ Zinc Caliper, Wheel Kit Discontinued, Use K71-824-05
K74-824-02 7,000 Ibs. Zinc Hub & Rotor w/ Zinc Caliper, Axle Kit Discontinued, Use Qty (2) K71-824-05
K74-806-00 | 876983006557 | 7,000 Ibs. Zinc Hub & Rotor w/ Aluminum Caliper, Wheel Kit | Discontinued, Use K71-806-05
K74-806-02 | 876983009367 | 7,000 Ibs. Zinc Hub & Rotor w/ Aluminum Caliper, Axle Kit | Discontinued, Use Qty (2) K71-806-05

Retained Integral Disc Brake Kits
Individual components are not available in bulk; components are only available in service part kits.

3,750 LBS. ZINC HUB & ROTOR W/ ZINC CALIPER K71-077-05

Components for 1 Wheel UPC 876983006687

DXPARTNO. QUANTITY PARTS DESCRIPTION
Caliper and Caliper Components

089-135-10 1 Caliper, Zinc
005-169-00 2 Washer, Copper
034-323-00 1 Fitting, Banjo
007-319-00 1 Bolt, Banjo
054-119-00 1 Bleeder Screw
007-299-00 2 Bolt 7/16-20 X 1.125
Hub and Rotor Components
008-435-05 1 Hub & Rotor, 5 0n 4.50", Zinc
010-019-00 1 Seal, Grease, 2.56 x 1.72
010-168-00 1 Seal, Grease, 2.56 X 1.68
031-031-02 1 Bearing, L44649
031-033-02 1 Bearing, L68149
021-083-00 1 Trailer Buddy Bra, 19B
021-101-00 1 Trailer Buddy, 1.980"
006-080-00 5 Cone Nuts, 60 Degree

Dexter Axle Company 2900 Industrial Parkway East Elkhart, IN 46516

Phone: (574) 295-7888 www.dexteraxle.com Fax: (574) 295-8666




=

PRODUCT BULLETIN #442

DEXTER Page 2 of 4
3,750 LBS. ZINC HUB & ROTOR W/ ALUM. CALIPER K71-078-05
Components for 1 Wheel UPC 876983006694
DX PART NO. QUANTITY  PARTS DESCRIPTION
Caliper and Caliper Components
089-235-10 1 Caliper, Aluminum
005-169-00 2 Washer, Copper
007-299-00 2 Bolt, 7/16-20 X 1.125
007-319-00 1 Bolt, Banjo
034-323-00 1 Fitting, Banjo
054-119-00 1 Bleeder Screw
Hub and Rotor Components
008-435-05 1 Hub & Rotor, 5 on 4.50", Zinc
010-019-00 1 Seal, Grease, 2.56 0D x 1.72 ID
010-168-00 1 Seal, Grease, 2.56 0D x 1.68 ID
031-031-02 1 Bearing, L44649
031-033-02 1 Bearing, L68149
021-083-00 1 Trailer Buddy Bra, 19B
021-101-00 1 Trailer Buddy, 1.980"

006-080-00 5 Cone Nuts, 60 Degree
6,000 LBS. ZINC HUB & ROTOR W/ ZINC CALIPER K71-089-05
Components for 1 Wheel UPC 876983006724

DXPARTNO. QUANTITY PARTS DESCRIPTION

Caliper and Caliper Components

089-135-10 1 Caliper, Zinc

004-088-00 1 Bracket, Caliper Mounting
005-169-00 2 Washer, Copper

034-323-00 1 Fitting, Banjo

007-319-00 1 Bolt, Banjo

054-119-00 1 Bleeder Screw

007-299-00 2 Bolt 7/16-20 X 1.125

Hub & Rotor and Components

008-440-05 1 Hub & Rotor, 6 on 5.50", Zinc
010-036-00 1 Seal, Grease, 3.38 0D x2.25ID
010-191-00 1 Seal, Grease, 3.38 0D x2.13 ID
031-029-02 1 Bearing, 15123

031-030-02 1 Bearing, 25580

021-130-00 1 Trailer Buddy, 2.441"
021-134-00 1 Trailer Buddy Bra, 23B
006-080-00 6 Cone Nuts, 60 Degree

Dexter Axle Company
Phone: (574) 295-7888

2900 Industrial Parkway East
www.dexteraxle.com

Elkhart, IN 46516
Fax: (574) 295-8666




=

PRODUCT BULLETIN #442

DEXTER Page 3 of 4
6,000 LBS. ZINC HUB & ROTOR W/ ALUM. CALIPER K71-090-05
Components for 1 Wheel UPC 876983006731
DX PART NO. QUANTITY  PARTS DESCRIPTION
Caliper and Caliper Components
089-235-10 1 Caliper, Aluminum
004-088-00 1 Bracket, Caliper Mounting
005-169-00 2 Washer, Copper
034-323-00 1 Fitting, Banjo
007-319-00 1 Bolt, Banjo
054-119-00 1 Bleeder Screw
007-299-00 2 Bolt 7/16-20X 1.125
Hub & Rotor and Components
008-440-05 1 Hub & Rotor, 6 on 5.50", Zinc
010-036-00 1 Seal, Grease, 3.38 0Dx2.25 ID
010-191-00 1 Seal, Grease, 3.380Dx2.13 1D
031-029-02 1 Bearing, 15123
031-030-02 1 Bearing, 25580
021-130-00 1 Trailer Buddy, 2.441"

021-134-00 1 Trailer Buddy Bra, 23B
006-080-00 6 Cone Nuts, 60 Degree
7,000 LBS. ZINC HUB & ROTOR W/ ZINC CALIPER K71-824-05
Components for 1 Wheel UPC 876983006762

DXPARTNO. QUANTITY PARTS DESCRIPTION

Caliper and Caliper Components

089-135-10 1 Caliper, Zinc

004-088-00 1 Bracket, Caliper Mounting
005-169-00 2 Washer, Copper

034-323-00 1 Fitting, Banjo

007-319-00 1 Bolt, Banjo

054-119-00 1 Bleeder Screw

007-299-00 2 Bolt 7/16-20 X 1.125

Hub & Rotor and Components

008-439-05 1 Hub & Rotor, 8 on 6.50", Zinc
010-036-00 1 Seal, Grease, 3.38 0D x2.25ID
010-191-00 1 Seal, Grease, 3.380Dx2.13ID
031-017-02 1 Bearing, 14125A

031-030-02 1 Bearing, 25580

021-132-00 1 Trailer Buddy, 2.717"
021-134-00 1 Trailer Buddy Bra, 23B
006-080-00 8 Cone Nuts, 60 Degree

Dexter Axle Company
Phone: (574) 295-7888

2900 Industrial Parkway East
www.dexteraxle.com

Elkhart, IN 46516
Fax: (574) 295-8666




=

PRODUCT BULLETIN #442

DEXTER Page 4 of 4
7,000 LBS. ZINC HUB & ROTOR W/ ALUM. CALIPER K71-806-05
Components for 1 Wheel UPC 876983006779

DX PART NO. QUANTITY  PARTS DESCRIPTION
Caliper and Caliper Components

089-235-10 1 Caliper, Aluminum
004-088-00 1 Bracket, Caliper Mounting
005-169-00 2 Washer, Copper

034-323-00 1 Fitting, Banjo

007-319-00 1 Bolt, Banjo

054-119-00 1 Bleeder Screw

007-299-00 2 Bolt 7/16-20X 1.125

Hub & Rotor and Components

008-439-05 1 Hub & Rotor, 8 on 6.50", Zinc
010-036-00 1 Seal, Grease, 3.38 0D x2.25ID
010-191-00 1 Seal, Grease, 3.38 0Dx2.13ID
031-017-02 1 Bearing, 14125A

031-030-02 1 Bearing, 25580

021-132-00 1 Trailer Buddy, 2.717"
021-134-00 1 Trailer Buddy Bra, 23B
006-080-00 8 Cone Nuts, 60 Degree

Please contact your Dexter account manager for additional details, ordering, availability, or other questions. Not all products may be

available at all plants.

Jay Klinkerman
Market Manager

Dexter Axle Company
Phone: (574) 295-7888

2900 Industrial Parkway East
www.dexteraxle.com

Elkhart, IN 46516
Fax: (574) 295-8666




